 EQ \b(a-b)\s\up8(2)+\b(a-b)+\b(c+d)-\b(c+d)\s\up8(2) = EQ  \b(a-b)+\b(c+d)-\b(c+d)\s\up8(2)+\b(a-b)\s\up8(2) =

= EQ  \b(\b(a-b)+\b(c+d))+\b(-\b(c+d)\s\up8(2)+\b(a-b)\s\up8(2)) =

= EQ  \b(\b(a-b)+\b(c+d))+\b(-\b(c\s\up8(2)+2cd+d\s\up8(2))+\b(a\s\up8(2)-2ab+b\s\up8(2))) =

= EQ  \b(a-b+c+d)+\b(-\b(c\s\up8(2)+2cd+d\s\up8(2))+\b(a\s\up8(2)-2ab+b\s\up8(2))) =

= EQ  \b(a-b+c+d)+\b(-c\s\up8(2)-2cd-d\s\up8(2)+a\s\up8(2)-2ab+b\s\up8(2)) =

= EQ  \b(a-b+c+d)+\b(a-b-c-d)\b(a-b+c+d) =

= EQ  1\b(a-b+c+d)+\b(a-b-c-d)\b(a-b+c+d) =

= EQ  \b(1+\b(a-b-c-d))\b(a-b+c+d) =

= EQ  \b(1+a-b-c-d)\b(a-b+c+d) 
